January 02, 2014

To the Honorable Members Of the General Assembly

I am pleased to submit the State of Illinois Annual Report Summary for the calendar year 2013, pursuant to the "Illinois Procurement Code", Section 25-55. This report is a listing of annual reports printed by state agencies and purchased from outside printers through the Printing Unit, Bureau of Strategic Sourcing, Department of Central Management Services (CMS) or printed by the agencies. It sets forth the number of copies printed, the total cost of the publication, cost per copy, and cost per page.

CMS works closely with the state agencies that place orders through the Printing Unit. Cost cutting methods and materials are routinely discussed with state agencies by CMS staff. Recycled paper is strongly recommended whenever practicable and all printing for the State of Illinois is done using soybean oil-based ink.

Few and fewer agencies are having their reports printed through CMS primarily because we have recommended that they print them digitally in-house or use another State agency to do so.

Sincerely,

Simone McNeil Acting Director



DEPARTMENT OF CENTRAL MANAGEMENT SERVICES
Simone McNeil, Acting Director

## State of Illinois Annual Report Summary 2013

Presented to the Illinois General Assembly pursuant to the Illinois Procurement Code

This report is printed on recycled paper.

Agency		Qty.	Cost/book	Cost/page	Total
Educational Labor Relations Board	in-house	100	\$0.00	\$0.00	\$0.00
Illinois State Police		29	\$0.64	\$0.02	\$18.56
Property Tax Appeal Board	in-house	150	\$0.00	\$0.00	\$0.00
Illinois Power Agency	does not prin	t	\$0.00	\$0.00	\$0.00
Illinois State Toll Highway Auth.	in-house	400	\$2.29	\$.095	\$916.00
Illinois Department of Agriculture	does not prin	t	\$0.00	\$0.00	\$0.00
Illinois Gaming Board	on-line		\$0.00	\$0.00	\$0.00
OEIG		300	\$2.78	\$0.07	\$834.84
ISP Merit Board	does not print	t	\$0.00	\$0.00	\$0.00
DHFS	does not print	t	\$0.00	\$0.00	\$0.00
IL State Board of Education	in-house	250	\$6.46	\$0.09	\$1615.00
IL Racing Board	in-house	100	\$0.00	\$0.00	\$0.00
Prisoner Review Board	in-house	100	\$0.00	\$0.00	\$0.00
Civil Service Commission		40	\$1.52	\$.007	\$60.80
IL State Fire Marshall		300	\$2.66	\$.095	\$798.00
IL College Board	does not print	:	\$0.00	\$0.00	\$0.00
IL Criminal Justice Information Authorit	ty on-line		\$0.00	\$0.00	\$0.00
IL State Board of Election			\$0.00	\$0.00	\$0.00
IL Department of Employment Security	does not prin	t	\$0.00	\$0.00	\$0.00
IL Emergency Management Agency	does not print		\$0.00	\$0.00	\$0.00
Capital Development Board	does not print		\$0.00	\$0.00	\$0.00
Worker's Compensation Commission	in house	100	\$2.81		\$281.00
IL Housing Development Authority		4,000	\$1.75	\$0.06	\$7,000.0
IL Labor Relations Board	on-line		\$0.00	\$0.00	\$0.00

		SANS COMMENTAL SERVICES		PARTICIONE CONTRACTOR	TO THE OWNER OF THE PARTY OF TH
IL Arts Council	on-line		\$0.00	\$0.00	\$0.00
IL Mathematics & Science Academy	does not print		\$0.00	\$0.00	\$0.00
IL Human Rights Commission	in house 5	50	\$8.00	\$.27	\$400.00
IL Deaf & Hard of Hearing Commission	does not print		\$0.00	\$0.00	\$0.00
IL Department of Insurance	1	.00	\$5.70		\$4840.00
IL Historic Preservation	on-line		\$0.00	\$0.00	\$0.00
IL Commerce Commission	4	80	\$2.75	\$0.07	\$1123.12
Dept. of Commerce & Economic Oppor	tunity does not	print	\$0.00	\$0.00	\$0.00
Governor's Office of Management & Bu	ıdget does not	print	\$0.00	\$0.00	\$0.00
IL Council on Developmental Disabilities	s 5	00	\$1.81		\$905.00
Dept. of Children & Family Services does not print			\$0.00	\$0.00	\$0.00

## The following agencies did not submit information but were on last year's spreadsheet.

Central Management Services	does not print		\$0.00	\$0.00	\$0.00
IL Drycleaner Env. Response Trust	does not print		\$0.00	\$0.00	\$0.00
IL Dept. of Natural Resources	does not print		\$0.00	\$0.00	\$0.00
Illinois Dept. of Transportation	in-house	750	\$0.00	\$0.00	\$0.00
Dept. of Military Affairs		250	\$1.06	\$0.04	\$85.00
Dept. of Veterans' Affairs		250	\$0.92	\$0.02	\$230.13
IL Sports Facility Authority		1000	\$8.00	\$0.33	\$8,000.00

## Returned e-mails that said information will be forthcoming:

**Teacher's Retirement System** 

Dept. of Financial & Professional Regulation